
Question #76905, Physics / Classical Mechanics 

The force of capillarity in plant is given by F=prgh/2 where r is the coefficient of surface tension.is the equation 

correct or not. Justify the answer  

Solution 

 𝐹 =
𝑝𝑟𝑔ℎ

2
 

Dimensions of the force are: 

dim 𝐹 = 𝑀𝐿𝑇−2. 

𝑑𝑖𝑚𝑔 = 𝐿𝑇−2 

dim ℎ = 𝐿 

dim 𝑟 = 𝑀𝑇−2. 

dim 𝑝 = 𝑀𝐿−1𝑇−2. 

Thus, 

dim (
𝑝𝑟𝑔ℎ

2
) = 𝐿𝑇−2𝐿𝑀𝑇−2𝑀𝐿−1𝑇−2 = 𝑀2𝐿𝑇−6 ≠ 𝑀𝐿𝑇−2 = dim 𝐹. 

Therefore, the formula is not correct!  

Answer provided by https://www.AssignmentExpert.com 

 

https://www.assignmentexpert.com/

